Finspangs BK
Partavling 2021-11-23

Partavling, 8 bord, 16 par.

Antal brickor: 26. Medel: 182.0.

Plac Par Poéng % Namn MID Klubb

1 6 256 70.33  Gosta Olavi - Inge Carlsson 15838 9590 Katrineholms BA - Finspangs BK

2 5 200 54.95 Lennart Fagerros - Per Nilsson 67688 200389 Finspangs BK

3 12 197 54.12  Simon Grandell - Cathrine Haraldsson 66921 67711  Norrkopingsbridgen - Finspangs BK

3 15 197 54.12  Goran Fyhr - Janne Hellgvist 67028 66706  Finspangs BK

5 1 191 52.47 Irene Adolfsson - Gunnar Karlsson 53532 53531 Finspangs BK

5 10 191 52.47  Siv Astrém - Géran Lindvall 13093 52969  Finspangs BK

7 16 188 51.65 Thomas Hedberg - Kent Backman 24939 23894  Finspangs BK

8 14 186 51.10 Erik Abenius - Torsten Lindblom 35378 200292 Finspangs BK

9 13 183 50.27  UIf Hellstrom - Per-Ove Gunnarsson 35384 66707 Finspangs BK

10 11 175 48.08 Orjan Gustafsson - Erik Andersson 53529 53530 Finspangs BK

11 2 171 46.98 Pelle Forsberg - Anders Nimrodsson 53547 82006 Finspangs BK

12 8 165 45.33  Brittmari Nimrodsson - Birgitta Lindwall 53538 53536 Finspangs BK

13 4 162 4451 Margareta Osterberg - Kerstin Pettersson 53549 53544  Finspangs BK

14 9 158 43.41 Magna Markos - Katarina Ericsson 66965 53534  Finspangs BK

15 3 156 42.86  Gunilla Jepson - Niklas Lejon 53003 35375 Finspangs BK

16 7 136 37.36  Gudrun Dorell - Lillemor Norlin 53541 67595  Finspangs BK
1 Nord Ingen 2 Ost NS 3 Syd OV

Par Kontr Ut Res Par Kontr Ut Res Poang Par Kontr Ut Res Poang
14 1 1 O0-3 &7 150 0.0 6 11 44 S+1 42 650 140 00| 1 11 2¢vN+1 ¢A 140 11.0 3.0
15 12 INO-2 «7 100 20|16 5 44 S= 9 620 120 20| 5 3 3vS= ¢3 140 11.0 3.0

4 2 2¢ S= v3 90 40|15 12 INS+3 ¢6 180 100 40(10 9 2y N+1 «A 140 11.0 3.0

7 3 2NO-1 *K 50 7.0 13 10 24 S+1 v8 140 70 7.0(14 2 2vy N+1 ¢A 140 11.0 3.0
16 5 24 0-1 *A 50 7014 1 1s S+2 ¢2 140 70 70|15 13 4v N-1 a A -50 50 9.0

6 11 14 O= *K -80 100| 7 3 3v0O-2 «3 100 40 100(16 6 4v N-1 ¢ A -50 50 9.0

9 8 INO= +6 -90 13.0( 9 8 44 S-1 v8 -100 20 120 8 4 2NN-2 ¢ A -100 2.0 120
13 10 INO= *7 -90 13.0| 4 2 44 S-2 *7 -200 0.0 140| 7 12 24 V= *A -110 0.0 14.0
4 Vast Alla 5 Nord NS 6 Ost OV

Par Kontr ut Res Par Kontr Ut Res Poang Par Kontr Ut Res Poang

7 12 2v S= «K 110 20 9 5 4y N+3 4K 710 140 00| 2 12 3¢ S= vQ 110 14.0 0.0

8 4 3¢ N= «A 110 20| 6 4 4v S+2 45 680 100 40(16 7 4v N-1 49 -50 120 2.0
14 2 2vy N= ¢4 110 20|15 1 4vS+2 45 680 100 40| 6 4 4vy N-2 +9 -100 9. 5.0

1 11 2v N-1 *2 -100 9.0(16 7 5vS+1 48 680 100 40|15 1 3vyN-2 oK -100 9. 5.0

5 3 3vyN-1 *T -100 9.0| 2 12 54 O -4 vA 200 6.0 80| 9 5 240= vK -110 5. 9.0
10 9 4vy N-1 *T -100 9.0 8 13 4¢ N+2 42 170 40 100(14 3 24 0= +3 -110 5. 9.0
15 13 3v S-1 +K -100 9.0(11 10 34 O-2 ¢A 100 20 120| 8 13 24 O+1 v¥K -140 1.0 13.0
16 6 3NN-2 aJ -200 40(14 3 34 0-1 2 50 0.0 140(11 10 34 O= ¢ A -140 1.0 13.0
7 Syd Alla 8 Vast Ingen 9 Nord OV

Par Kontr ut Res Par Kontr Ut Res Poang Par Kontr Ut Res Poang
12 11 34 V-2 v3 200 00[14 4 2NO-3 «4 150 140 00|16 9 1vN+1 T 110 140 0.0

2 15 24 V-1 v3 100 6.0 2 15 2¢ N+1 4K 110 100 40| 3 15 1v N= +K 80 10.0 4.0

3 13 44 V-1 «A 100 60| 7 5 2vy N= &6 110 100 40| 8 6 1lvyN= aT 80 10.0 4.0
10 6 24 V-1 v2 100 6.0(12 11 2v S= 43 110 100 40|11 7 1vN= 43 80 10.0 4.0
14 4 44 V-1 «A 100 6.0 3 13 1¢ N+1 4T 90 50 90|10 2 1vN-1 *4 -50 50 9.0
16 8 24 V-1 v3 100 6.0(16 8 2¢ N= *6 90 50 90|14 5 1vN-1 aT -50 50 9.0

7 5 24 V+1l &2 -140 130 9 1 INO= 8 -90 20 120|133 12 2v V= ¢ A -110 2.0 12.0

9 1 24V+1L &A -140 13.0|/10 6 2v N-2 oK -100 0.0 140 4 1 2NN-4 *4 -200 0.0 14.0
10 Ost Alla 11 Syd Ingen 12 Véast NS

Par Kontr Ut Res Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang

4 1 24 V-1 vA 100 40(11 3 54V-1 a5 50 140 00| 9 7 44 N+1 &5 650 140 0.0
10 2 24 V-1 LY 100 40|12 8 34 N-1 ¢ A 50 120 20| 5 2 3NS+1 ¢9 630 12.0 2.0
11 7 340-1 «A 100 40| 4 15 2%V +2 v4 -130 9.0 50|12 8 44 N= v7 620 10.0 4.0
13 12 24 V-1 ¢A 100 40 5 2 34V+l vK -130 90 50| 4 15 3NS= ¢9 600 8.0 6.0
16 9 340-1 ¢T 100 40| 9 7 44V +1 v5 -150 50 9.0(16 10 24 N+3 &5 200 6.0 8.0
14 5 24 0= *2 -110 10.0| 16 10 3#V +2 v5 -150 50 90|11 3 34 N+1 ¢5 170 4.0 10.0

3 15 24 O+1 T -140 13.0(14 6 3NO+2 v6 -460 20 120(| 1 13 34 N= v7 140 1.0 13.0

8 6 24 V+1 v8 -140 13.0( 1 13 3NV +3 43 -490 0.0 140|114 6 1lv S+2 ¢9 140 1.0 13.0
13 Nord Alla 14 Ost Ingen 15 Syd NS

Par Kontr Ut Res Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang

6 3 4aV-2 vK 200 00|12 4 54DO-3 42 500 140 00| 3 2 3vV+2 +3 -200 140 0.0

5 15 2¢y N+2 +8 170 20| 6 3 3NO-2 v5 100 120 20| 6 15 3NO= LX) -400 110 3.0

2 1 29y N+1 3 140 6.0(10 8 2NO-1 v3 50 90 50|14 8 3NO= 43 -400 110 3.0
12 4 2v N+1 43 140 60|14 7 2NO-1 v2 50 90 50| 1 10 BNO+1 43 -430 8.0 6.0
13 9 2v N+1 A 140 6.0 16 11 44 N-1 *A -50 6.0 80|11 9 4vV+1l +3 -450 6.0 8.0
10 8 4vy N-1 oA -100 11.0| 5 15 3¢ N-2 oA -100 40 100| 7 4 3NO+2 8 -460 2.0 12.0
16 11 4v S-1 *A -100 110 2 1 2NO= v9 -120 1.0 13.0|13 5 3NV+2 LY -460 20 120
14 7 4vyDN-1 a3 -200 140|113 9 2NO= v9 -120 10 13.0|16 12 3NO+2 &5 -460 2.0 12.0
16 Vast OV 17 Nord Ingen 18 Ost NS

Par Kontr Ut Res Par Kontr Ut Res Poang Par Kontr Ut Res Poang
16 12 3NO -2 «3 200 0.0[13 16 24 S+3 #A 200 140 00| 2 11 3NO-3 4K 150 14.0 0.0
11 9 3NO-1 2 100 20| 4 3 34S+1 &K 170 120 20| 8 5 34S= ¢+Q 140 120 20
14 8 2NO+2 v2 -180 40| 1 6 24 S+1 &K 140 80 6.0|12 10 24 S= «A 110 10.0 4.0

6 15 34 O+2 v6 -200 6.0 8 5 24 S+1 &K 140 80 60| 4 3 3NO-2 44 100 8.0 6.0

7 4 44 O= »2 -620 8.0|12 10 24 S+1 &#A 140 80 60| 7 15 2NO= 43 -120 6.0 8.0

1 10 44 O+1 ¢5 -650 11.0| 7 15 2NN= 2 120 3.0 11014 9 3NO= a4 -400 4.0 10.0
13 5 44 O+1 ©vA -650 11.0|14 9 2NS= «7 120 3.0 110 1 6 3NO+1 &K -430 1.0 13.0

3 2 3NO+2 &9 -660 140| 2 11 44 S-2 *A -100 0.0 140(13 16 3NO+1 &K -430 1.0 13.0
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19 Syd OV 20 Vast Alla 21 Nord NS
Par Kontr Ut Res Par Kontr Ut Res Par Kontr Ut Res
1 16 3NO-2 v2 200 1.0|13 11 5¢ O+1 v3 -620 00| 1 6v O -2 ¢A 100 0.0
14 10 3NV-2 a4 200 1.0| 1 16 4e V+2 vA -680 40| 3 4% O +2 v4 -170 2.0
8 15 2v S= «Q 110 40| 5 4 46 V+2 +Q -680 40| 2 5& O = *A -400 7.0
2 7 2vS-1 a2 -50 6.0| 8 15 44 V+2 vA -680 40| 4 5& O = vA -400 7.0
5 4 44 O= vA -130 10.0| 3 12 3NO+3 v4 -690 9.0| 9 5 O = *A -400 7.0
9 6 3¢40+1 vA -130 10.0( 14 10 3NO+3 a4 -690 9.0| 10 5 V= ¢A -400 7.0
13 11 2¢ O+2 vA -130 100 2 7 3NO+4 &7 -720 13.0| 14 3NV +1 a2 -430 12.0
3 12 3NO+1 &6 -630 140 9 6 3NO+4 v4 -720 13.0| 6 3NV +2 &) -460 14.0
22 Ost OV 23 Syd Alla 24 Vast Ingen
Par Kontr Ut Res Par Kontr Ut Res Par Kontr Ut Res
10 7 3NO-5 &Q 500 00| 5 1 44 S+2 ¢A 680 00|11 38 V-1 v6 50 0.0
3 8 54S= +8 400 20| 2 13 44 S= ¢A 620 20|15 24 V +3 &A -200 2.0
14 11 2NO-2 &T 200 40(15 10 24 S+2 *A 170 40| 2 4e V +1 vT -450 7.0
6 5 44 S= +9 130 60| 4 9 34S= ¢A 140 80| 3 4e V +1 &A -450 7.0
1 12 3#S= +9 110 80|11 8 24 S+1 *A 140 80| 4 4e V +1 &A -450 7.0
2 16 3¢ O-1 s A 100 10.0| 14 12 24 S+1 *A 140 8.0| 14 4e V +1 &A -450 7.0
4 13 24 O= LY -90 120| 3 16 44 S-1 ¢A -100 130 7 44 O +2 &A -480 12.0
9 15 3¢ O= v8 -110 140| 7 6 34S-1 +K -100 130 5 5N O +1 &9 -490 14.0
25 Nord OV 26 Ost Alla
Par Kontr Ut Res Par Kontr Ut Res
15 11 5¢DV-1 &A 200 00| 4 16 3NV-1 &4 100 2.0
5 10 3v N+1 +3 170 30| 8 7 4¢v0-1 LY 100 2.0
14 13 3v N+1 &T 170 30|14 13 2¢0O-1 LY! 100 2.0
6 2 3vyN= +3 140 70| 3 1 2¢ O+1 &6 -110 7.0
12 9 2v N+1 &T 140 70| 6 2 2¢0= &6 -110 7.0
3 1 4vN-1 +J -50 120 5 10 2v O+1 &6 -140 11.0
4 16 3v N-1 *J -50 12.0|15 11 1v O+2 +9 -140 11.0
8 7 4v N-1 +4 -50 12012 9 3v O+1 &6 -170 14.0
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